OZHFSA x* —2x -8 <09 7ta<x<b B W, b-a® g2?

D 6 @7 ® 8 @ 9 ® 10



2.

oA g40] TG ol gato] o AFEA 42 4 x— 6> 02 FH?

D x<-3E=x>2 @ x<-2F=x>3
@ x<-1E=x>4 @ x<0E=x>5

® x<1E=x>6



2 ghESH= R E x o] gho] BEA] 12 -8 < 82

BEA -2 < kS TWE
WE T, A% ko] HAGL? (D, k > 0)

@ 2 @ 3 ® 4 @ 5 ®© 6






ff o]x

(kx=3)+3 > 00] G4}

,I__Hi‘%_/‘_‘] x2 —-X
& Foteleh



RE AL xof gisle] o|ARS A2 4 2%kx -k + 6 > 00] FA AH
St = ko] HYE FolH m < k < nolth. o] W, m? + n? 9] G-
Jotefet,

5
=%



7.

BE A xof tiste] x2 - 2mx—m > 02 THESh=

a<m<bolth a+ b2 #= Tl

Al
=

Fm

94

H
=1

_(')4

rr



= Al A

E A4 x o]l tisted Tkl (m+ 1)x% - 2(m - 1)x + 3 9] ol I

2H T A5 5}
-stojzt.

i 2
t}g'—l‘m

5 L
=%



9. FSHax®+5x+b>02 E°M 2 <x <302t si7t FeFH.
o| W, ab 9 gt -5kt

a Eab =



o]
=

7t -2 < x <3

SA P +ax+b<0 9

o177

10.

ol
Ho

ol

@ 6 ® 9 12 ® 15

@ 3



11.

x o Rt OIAEEA 2 +ax+b>0 A7t x< 1 EEx>4 L 0

4% at b 9 gHe Fatolet.

Be



@ 4 ® 5

@ 3

1



23350
st

2+ (a*-5a—6)x—a+1 = 0°] A2 T}

Fool oo AdigtEn Y Ze o, v

& RE Gshu?

A a9l Zk

@ 17 ® 19 @ 20 ® 21

D 15



14. oF A= =2 Zo)7t 28 cm Q1 AA}
48 m? oJAto] T E x| o 11 St} o] wf eFAlAre] 3 ¥ 9]

2} Arf sfop =712

® 5m @ 6m

R

® 7m



15.

@ -6<a<-2
® a<h

®a>3,a<-1



16. 1 <x <29 BE A xof thoto] B4 ax < 4+ x - x20] P4
e o, A4 q 0] o] HeIE FohA?

D a<1 @ a<?2 ® a<3 @ a<4 ® a<5h



17.

<H7]> xof gt BS54 gx® +dax+5a>09] Aoz g2 7

Mo

(a1
H7]

@ a>0¢ o sl LE AS=o|t},
©a=0% df 3= x = 0o},
©a<0¥ o 3= ¢l

ONQ) ® 0,0 ® 9,0
@O0 ® 9,06



18.

6x2 -31[x-1] - 13 < 02 EH? (T, [x]

4%)

@D -3<x<3

@ 1<x<5

@ -2<x<5

® 1<x<6

=

i
%
B
el
rr

@ 0<x<3

P



19. BE A% xol fste] ( +a)x > @ +a-200] AU G, A% a o)
A4E 5ha?

@ 97 @ 674 ® 574 @ 474 ® 371



OJAHEEA ax? + bx + ¢ > 0= WHo= x 9 H7b 2 <x<1¢

ofl, #5A ex? —ax+ b < 0-F WESh= x O H9E=?
1 1
O -2<x<1 @—1<x<§ @—§<x<2

1
@ §<x<1

1
@ §<x<2



